Abyas 1.0
Number Series-|



Find out the value of ? In following number series ?
Q1) 11, 24, 43 72, ?, 152
a) 103 b) 109 c) 93 d) 111 e) 104



Find out the value of ? In following number series ?
Q2) 215 ? 228 189 241 176
a) 212 b) 215 c) 200 d) 202 e) 206



Find out the value of ? In following number series ?

Q3)5 15 45 180 1080
a) 3240 b) 7560 c) 9720 d) 10020 e) 430



Find out the value of ? In following number series ?
Q4) 24 13 15 25.5 55 ?
a) 152.2 b) 142.5 c) 115 d) 113 e) 122



Find out the value of ? In following number series .
Q5) 15, 28, 45, 66, 91,
a) 115 b) 120 c) 124 d) 135 e) 129



Find out wrong term in following number series ?
6) 10000 3000 1800 1600 1944 2916
a) 10000 b) 3000 c) 1600 d) 1944 e) 2916



Direction: In the following number series, one number is wrong. Find out that wrong number
Q7) 7, 23, 58, 127, 269, 555
a) 23 b) 127 c) 269 d) 58 e) 555



Direction: In the following number series, one number is wrong. Find out that wrong number
Q8) 10, 9, 13, -4, 20, -5,
a) 10 b) -4 c)9 d) -5 e) 20



Direction: In the following number series, one number is wrong. Find out that wrong number

Q9) 3, 1, 4, 10, 44, 208
a) 1 b) 4 c)10 d) 44 e) 208



Direction: In the following number series, one number is wrong. Find out that wrong number ?

Q10) 8, 10, 15, 26, 39, 66
a) 8 b)10 c)15 d)26 e) 39



Q11) Aseriesis 113, 122, 150 276, 620, 1952
Another series which is following same logic is:

Ueh 31 AWl ST GHATT deh I ITEOT F @ &
44’ —_—r J— P

Find value of m ?
m T AT ATd HIL?

a) 534 b ) 442 c) 551 d) 389 e) 432




Q12) A series is 1, 2 9 44 235

Another series which follows same pattern is:

Ueh 31 ATl Sl AT Yol I HTEOT HIcAl § I8 &
3, o e o

Find the value of a .

a) 1444 b)2256 c) 1254 d)2874 e)3264

1434




Ql3) 2 1 1 1.5 3 7.5

If 1417.50 is nth term of the sequence then find the value of n ?
Ifg 1417.50 3eIshA &I ndl UG &, AT n s AT Ad HfATI

a) 9th b) 10t c) 11th d) 12th e) 13t




Direction: Two number series are given under which follows same pattern. Find out the pattern of 15t series and
accordingly find the value of ( ? )

foder: & d&ar g@er & 915 § f9e dgd Uk g1 Ueel & uTelel fohdl SI1aT §1 9gell ol & Yea
AT HIfAT 3R Fl'c’\?l'\qﬂ (?) &1 AT AT FifSv]
Q14)1: 126, 1457 728, 1071, 946, 973
: 13, ?
a) 760 b) 860 c) 673 d) 654 e) 1086




Q15) One number series is given under in which one term is wrong, you have to find out the wrong term and
then find the value of ? In second series which follows the same pattern as first.

Teh HEIT AT & 915 ¢ [S8H Teh Ug ITeid §, I ITeld Ue ATd & g 3R T g@dr si@en
ﬁﬁqﬁ%wﬁa‘rwwm%?w HiT ATd AT g |

|:18 19 20 22 28 52 188

I1:5, -, -- - -- -- ?

]

a) 148 b) 175 c) 159 d) 108 e) 142




Below given a series | which contains a wrong term. Find that wrong term and form a series Il that will start with
the wrong term of the series | . Both the series follow the same logic .

AT Ueh S@oll |&r 31‘5* ¢ o Hd U aTod uq §1 98 Teld 9 AT ﬁﬁrtf IR T HG@olT || SABT S
Gl | AT Ug & YE Bef| &l SWelT Teh g1 deh ol Uleled Il &

Q16) Series | : 190 191 178 162 132 93 43

What is the sum of last term of series | and 6" term of series Il ?

Gl 1% 3TAA Ug 3R HWell 15 S UG S FNeT T § ?
a) 124 b) 84 c) 98 d) 164 e) none of these




Q17) Find wrong term in following number series and then establish relation between wrong terms . If wrong
termin series |, Iland lllis a, b and c respectively

frtafad aear s F aTed Tec, Wiat 3R T ITada eUsel & o g9y TUUg Y| Il
AQell 1, 113 & TIT U FHM: a, bR ¥

| : 399 350 414 333 438 312
Il: 299 300 302 308 330 452
i 7 3 35 160 295 1232

a)a< b >c b)b<c>a c)c<b<a d)a>b>c e) none of these



Q18) Below given is a series | with one wrong term . Another series Il starts with the wrong term of series | and
follows the same pattern of series | .

A T A@el 17 5 & fS0H U I Ue Bl U AT AW | 3T | Tl Ig F Y& gl &
3R H@ell |3 HATT UeeT I HTEOT ALl o

| : 8, 17, 35, 75 154, 313, 632

If 374 term of series Il is equal to K, then which of the following statement(s) is/are correct ?

| : Wrong term of series | and K are co- prime to each other.

Il : If one root of equation y?> —ay + K = 0is 24 ,value of ais 30.

1I: Unit digit of 63Xis 3.

i HQell 11l T 9¢ Ko IR g, dl [AeAfaf@a # & i ana w2 a8t 8/67?
|: ST 1 3R KHT Tl Ig Teh GFX & TE-3Te7 ¢

I 3fE AT y? — ay + K = 0 T TH H 24 %, dl adr AT 30 &

II: 63K &1 SaTS 3TH 3§l

a) All b) only | c) only Il d) Only l and Il e) only | and Il




Q18) Below given is a series | with one wrong term . Another series Il starts with the wrong term of series | and
follows the same pattern of series | .

|:8, 17, 35, 75, 154, 313, 632

If 3rd term of series Il is equal to K, then which of the following statement(s) is/are correct ?

| : Wrong term of series | and K are co- prime to each other .

Il : If one root of equation y*> —ay + K = 0is 24 ,value of ais 30.

1I: Unit digit of 63Xis 3.

a) All b) only | c)only ll d) Only land Il e) only I and Il



I: 5, 9, X 43 92 213
Q19) If x is added in successive terms of a series start with nearest prime number of x then find 3" term of

this series .

gie Thell STl & HiAS qal HA xSt STl § S x T [Hehedd 3T HE&AT I Y& gl § o

ST HQoll T dT UG A1 R
a)51 b) 53 c) 55 d) 57 e) both bandc




Q20) Series | is given below with one wrong term that follows a certain Ioglc

G | A1 Teh I g o Ay &A1 a1 § St Ueh TATRedd b &1 31TEROT il &

|: 4, 14, 42 140 427 1292

There is an another series Il of 5 terms, which is started with wrong term of series | and follows the same
logic as in series | : Which of the following will not be a term of series Il ?

5 gel T Teh 3 AT 11, S AT 1% ITeld ¢ F YE Blcl & AR S{Tell |6 AT dh I
qTeled LT & ﬁmﬁ@aﬁﬂaﬁﬁa&m |37 9 SIET 81T ?
a) 42 b) 1164 c) 387 d) 3505 e) 128




Below given is a wrong number series:

A & IS T el HE&AT HWell &

2.5, 5, 15, 55 225, 855

21) If Ais the wrong term and B is the next term of the series, then which of the following regarding A and B is
TRUE?

i AdTeld HEAT § 3R B AT AT 3ol T&AT §, dl AR B Hay # AeAfaf@d & A=l @
qacg g ?

I: B=15A+40

II: B=16A—185

Ill: 45B = 683A

A.Only | is True

B.Both | and Ill are True
C.Both I and Il are True
D.All I, I, and Il are True
E.Only Il is True



22) Below given is a series having one wrong term and one missing term.
Identify the missing and wrong term in the series and find their sum.

A Ueh H@err &1 a5 & SHA U ITad 9 3R Tk ofcd Ug gl HWell H o IR ITAd gal
UEeIT 3R 3AFT INT AT PIST
Series: 10, ? 40, 88, 170, 300, 490, 752

’

A.792 B. 60 C. 210 D.12 E. 340



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24

